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NEW QUESTION 1
Which mroute state is created when Bidirectional PIM is deployed at a site?

A . *G
B. MVPN Type-6
C. MVPN Type-7
D.S.G

Answer: A

NEW QUESTION 2
Refer to the exhibit.

Which statement about the default gateway configuration of the vPC is true?

A. Either switch can act as the active default gateway.

B. N7K-1 acts as the default gateway for all traffic.

C. N7K-2 forwards traffic that is destined for the default gateway by using the peer link.
D. N7K-2 acts as the default gateway for all traffic.

Answer: A

NEW QUESTION 3

Refer to the exhibit.

What must be connected to clear the HA NOT READY status?
A. Layer 1-Layer 2 ports

B. server chassis

C. management ports

D. network uplinks

Answer: B

NEW QUESTION 4

Refer to the exhibit.

The STP priority of N7K-1 and N7K-2 are the lowest in the network. Which statement describes STP on the vPC?
A. N7K-1 and N7K-2 appear as a single STP root.

B. N7K-1 appears as the STP root.

C. N7K-1 preempts N7K-2 as the STP root.

D. N7K-2 appears as the STP root.

Answer: A

NEW QUESTION 5

Hostl is in VLAN100 located in DataCenterl and Host2 is in VLAN200 located in DataCenter2.
Which OTV VLAN mapping configuration allows Layer 2 connectivity between these two hosts?
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B.

© 0O

Answer: A

NEW QUESTION 6

Refer to the exhibit.

What is configured as a result of running these commands?
A. loose unicast RPF

B. strict unicast RPF

C. IP Source Guard

D. reverse lookup for outbound packets

Answer: B

NEW QUESTION 7
Which configuration implements static ingress replication?
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Answer: D

NEW QUESTION 8
Refer to the exhibit.

A flapping link issue has been reported on the vPC keepalive link. A packet capture has been activated on the Cisco Nexus switch. What is the destination IP
address of the vPC keepalive packets that are sent by the switch?

A.192.168.254.4
B. 192.168.254.1
C. 192.168.254.2
D. 239.255.70.83

Answer: A

NEW QUESTION 9
Due to a major version change, an engineer must perform a software upgrade on a Cisco Nexus Series switch.
Which two technologies can be implemented to reduce disruptions to the network during the upgrade? (Choose two.)

A.vPC
B. HSRP
C.vDC
D. MLAG
E. PAgP

Answer: AC

NEW QUESTION 10

Refer to the exhibit.

What is the reason the system-fm-vrrp checkpoint was created?

A. The VRRP process crashed and the checkpoint was automatically created.
B. The VRRP service restarted and the checkpoint was automatically created.
C. The network administrator manually created it.

D. The VRRP-enabled feature has been disabled.

Answer: D

NEW QUESTION 10

What are two capabilities of the Cisco Network Assurance Engine? (Choose two.)

A. It validates that devices comply with network security policies.
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B. It predicts the impact of changes to the network.

C. It predicts the network load on a data center.

D. It ensures that network performance meets an SLA.

E. It verifies the speed of network packet flows by using telemetry.

Answer: AB

NEW QUESTION 11
What is an advantage of streaming telemetry over SNMP?

A. on-change traps sent to a receiver

B. periodic push-based subscription messages
C. periodic polling of the device status

D. MD5-based authentication on polling

Answer: B

NEW QUESTION 13
APIC EPG Resolution Immediacy is set to "Immediate".
Which statement is true about the Deployment Immediacy for VMM domains associated to EPGs?

A. If "On demand" is selected, the policy is programmed in the hardware only when the first packet is received through the data path.
B. It "Immediate” is selected, the policy is programmed in the hardware as soon as the leaf is booted.

C. The "Immediate" and "On demand" options require a port group to be created on the VDS.

D. If "On demand" is selected, the policy is programmed in the hardware only when the APIC detects a VM created in the EPG.

Answer: A

NEW QUESTION 15
Which action must be performed before renumbering a Cisco UCS chassis?

A. Run the shut and no shut command on the connected ports.
B. Move the chassis to new ports on fabric interconnect.

C. Decommission the chassis.

D. Re-acknowledge the chassis.

Answer: C

NEW QUESTION 16
An engineer is implementing an import operation in Cisco UCS Manager.
What is the impact of performing this operation?

A. Information can be modified on the management plane only.

B. A configuration can be imported from a higher release to a lower release.

C. An import operation can be scheduled.

D. Only a configuration file that was exported from the same Cisco UCS Manager can be imported.

Answer: A

NEW QUESTION 21
An engineer is configuring a backup operation on the existing Cisco UCS environment using a logical configuration.
Which configuration is expected to be saved by using this backup type?

A. systems

B. roles

C. servers

D. service profiles

Answer: D

NEW QUESTION 22

An engineer is seeking the most optimal on demand CPU performance while configuring the BIOS settings of a UCS C-series rack mount server.
What setting will accomplish this goal?

A. C6 Retention

B. C6 non-Retention

C. C2 state

D. CO/C1 state

Answer: A

NEW QUESTION 23

What is the benefit of adding Cisco HyperFlex Hardware Acceleration Cards to a HyperFlex deployment?

A. increased compression efficiency
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B. increased network throughput
C. GPU acceleration
D. offline encryption acceleration

Answer: A

NEW QUESTION 26
Which two hypervisors does Cisco HyperFlex support? (Choose two.)

A. OpenStack

B. Citrix XenServer
C. VMware vSphere
D. RedHat KVM

E. Microsoft Hyper-V

Answer: CE

NEW QUESTION 28
An engineer changed a configuration and must perform a rollback.
Which statement applies to a Cisco Nexus 5600 Series Switch?

A. The configuration rollback functionality is disabled when FCoE is enabled.

B. A system checkpoint is generated automatically when the running configuration is saved to NVRAM.
C. A user who is assigned to the network-operator user role can perform a rollback.

D. Errors are skipped when an atomic rollback type is triggered.

Answer: A

NEW QUESTION 29

Which statement about the impact of a rolling EPLD upgrade on a Cisco MDS 9000 Series Switch is true?
A. The upgrade can be performed from the standby supervisor module.

B. Only the modules that are being upgraded are disrupted.

C. All modules on the switch are disrupted.

D. An EPLD upgrade is nondisruptive.

Answer: B

NEW QUESTION 33

Which two statements about the process at upgrading an EPLD on a Cisco MDS 9000 Series Switch are correct? (Choose two.)

A. EPLDs can be upgraded only to the latest EPLD image.

B. EPLD upgrades can be completed without powering down the module during the upgrade.
C. An upgrade verification identifies the impact of each EPLD upgrade.

D. The EPLDs for all the modules on a switch must be upgraded at the same time.

E. EPLDs can be upgraded without replacing the hardware.

Answer: CE

NEW QUESTION 36
DRAG DROP

An engineer is configuring VNTag between a virtualized server and a Cisco Nexus 5500 Series switch. Drag and drop the configuration steps from the left into the

correct order on the right.
Select and Place:

A. Mastered
B. Not Mastered
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Answer: A

Explanation:

NEW QUESTION 39
Refer to the exhibit.

Which backup operation type does not include the Preserve Identities feature?
A. full state

B. all configuration

C. logical configuration

D. system configuration

Answer: C

NEW QUESTION 41

Refer to the exhibit.

What is a characteristic presented in the service profile of the UUID?

A. unigue system generated

B. allocated from a UUID pool

C. vendor assigned

D. based on the hardware

Answer: B

NEW QUESTION 43

Refer to the exhibit.

Which action must be taken before the maintenance policy can be committed?
A. Specify a maintenance time by selecting a schedule.

B. Associate a service profile to the maintenance policy.

C. Set the soft shutdown timer to a specific time.

D. Set the policy to apply the changes on the next reboot.

Answer: A
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NEW QUESTION 45
Which statement is true about upgrading the firmware on a Cisco MDS storage switch with dual supervisors?

A. Supervisors can be upgraded independently to test the new firmware.

B. The new firmware is loaded on the standby supervisor first.

C. Both supervisors load the new firmware and then the active supervisor reboots.
D. The standby supervisor must be offline before the firmware upgrade begins.

Answer: B

NEW QUESTION 49
In an FCoE environment, for which two sets of data must an interface that implements the PAUSE mechanism always provision sufficient ingress buffer? (Choose
two.)

A. frames that were sent with high credit

B. frames that were sent on the link but not yet received

C. frames that were processed and transmitted by the transmitter after the PAUSE frame left the sender
D. frames that were processed and transmitted by the transmitter before the PAUSE frame left the sender
E. frames that were sent on the link and received

Answer: BD

NEW QUESTION 54
Which product includes prebuilt templates that can be used to customize fabric deployments?

A. Cisco Tetration

B. Cisco Data Center Network Manager
C. Cisco ACI

D. Cisco UCS Manager

Answer: B

NEW QUESTION 58
Which statement about the MAC address that the FCoE Initialization Protocol chooses for use by an E-Node in an FCoE implementation is true?

A. The FCoE Initialization Protocol uses a 24-bit FC-MAP and concatenates a 24-bit Fibre Channel ID to create a fabric-provided MAC address.

B. The FCoE Initialization Protocol uses the burned-in MAC address of the converged network adapter for all FCoE operations.

C. FCoE does not use a MAC addres

D. The FCoE Initialization Protocol is used to acquire a Fibre Channel ID, and the address is used for all FCOE communications in the same way as Fibre Channel
Protocol.

E. The FCoE Initialization Protocol uses 01.00.0C as the first 24 bits of the MAC address and appends a 24-bit Fibre Channel ID to derive a full 48- bit FCoE MAC
address.

Answer: AB

NEW QUESTION 59

DRAG DROP

An engineer must recover configuration on a Cisco MDS 9000 Series switch from a previous version that was backed up to bootflash and then verify the

restoration. Drag and drop the commands on the left to the correct order on the right.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 63
A customer has a requirement for an automation solution that supports periodically acquiring configuration from a centralized server and aligning UCS servers to
their desired state. Which open-source tool meets this requirement?

A. SaltStack
B. Kubernetes
C. Puppet

D. Terraform

Answer: C

NEW QUESTION 65
Which two components should be checked when a Cisco Nexus 9000 Series Switch fails to boot using POAP? (Choose two.)

A. POAP feature license

B. DHCP server to bootstrap IP information

C. image noted in the script file against switch bootflash
D. script signed with security key

E. TFTP server that contains the configuration script

Answer: BE

NEW QUESTION 68
Refer to the exhibit.

An engineer configures a new application profile using REST API and receives this error message. Which method can be used before the application profile can
be configured?

A. GET to aaalistDomains
B. POST to aaaRefresh

C. POST to aaalogin

D. POST to aaalLogout

Answer: C

NEW QUESTION 69
Which configuration generates a syslog message when CPU utilization is higher than 60%?

A. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op gt 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

B. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op It 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

C. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type next entry-op gt 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

D. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type next entry-op It 60 poll-interval 5 action 1.0 syslog priority notifications
msg "cpu high"

Answer: A

NEW QUESTION 74
An engineer is enabling port security on a Cisco MDS 9000 Series Switch.
Which feature of enabling port security on a Cisco MDS 9000 Series Switch must be considered?

A. It can be distributed by using Cisco Fabric Services.

B. It authorizes only the configured sSWWN to participate in the fabric.
C. It always learns about switches that are logging in.

D. It binds the fabric at the switch level.

Answer: A

NEW QUESTION 78
An engineer has a primary fabric that is named UCS-A and a secondary fabric that is named UCS-B. A certificate request that has a subject name of sjc2016 for a
keyring that is named kr2016 needs to be created. The cluster IP address is 10.68.68.68.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 350-601 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/350-601/ (382 New Questions)

Which command set creates this certificate request?

A. UCS-A # scope keyring kr2016UCS-A /keyring # create certreq 10.68.68.68 sjc2016UCS-A /keyring* # commit-buffer

B. UCS-B # scope keyring kr2016UCS-B /keyring # create certreq ip 10.68.68.68 subject-name sjc2016 UCS- B /keyring* # commit-both

C. UCS-B# scope securityUCS-B /security # scope keyring kr2016UCS-B /security/keyring # set certreq 10.68.68.68 sjc2016UCS-B /security/keyring* # commit-
both

D. UCS-A# scope securityUCS-A /security # scope keyring kr2016UCS-A /security/keyring # create certreq ip 10.68.68.68 subject-name sjc2016 UCS- A
/security/keyring* # commit-buffer

Answer: D

NEW QUESTION 80

A host in EPG Client wants to talk to a webserver in EPG Web. A contract with default settings is defined between EPG Client and EPG Web, which allows TCP
communication initiated by the client toward the webserver with TCP destination port 80.

Which statement is true?

A. If EPG Web is made a preferred group member, a contract between EPG Client and EPG Web is no longer required for the host in EPG Client to reach the
webserver in EPG Web.

B. If vzAny is configured to consume and provide a "deny all" contract, traffic between EPG Client and EPG Web is no longer allowed.

C. The host in EPG Client can connect to TCP destination port 80 on the webserver in EPG We

D. The webserver will not be able to initiate a separate TCP connection to a host port with TCP source port 80.

E. The host in EPG Client can connect to TCP destination port 80 on the webserver in EPG We

F. The webserver can initiate a separate TCP connection to a host port with TCP source port 80.

Answer: D

NEW QUESTION 84
An engineer is running an ACI fabric, has VMM integration with VMware vCenter, and wants to enable microsegmentation based on vCenter VM attributes. Which
statement about microsegmentation is true?

A. ACI does not support microsegmentation based on vCenter VM attribute

B. You should use network attributes for microsegmentation.

C. When enabled, microsegmentation performs distributed switching and routing on the ESXi hosts.

D. Microsegmentation is supported only using AVE or AVS.

E. An ACI microsegmented EPG automatically creates a port group with a private VLAN configured on a VMware vCenter distributed virtual switch.

Answer: D

NEW QUESTION 85

Refer to the exhibit.

What is the result of implementing this configuration?

A. The switch queries the TACACS+ server by using an encrypted text PAP login.
B. The TACACS+ server uses the type-6 encrypted format.

C. The switch queries the TACACS+ server by using a clear text PAP login.

D. The timeout value on the TACACS+ server is 10 seconds.

Answer: D

NEW QUESTION 86
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